
                                                                                                   

       Tabla del 6                
           Colorea el dibujo según el producto de la primera clave y 

           completa la frase según la segunda clave: 

           6  1=Amarillo = A            6  6=marrón claro= D 

           6  2=Rojo= Y                    6 7=gris= S 

           6 3=Verde oscuro= L        6  8=Naranja claro= M 

           6  4=Verde claro= E          6  9=Negro= T 

           6  5=Marrón oscuro= B 

              

 

                


